5a)
5b)

5¢c)

10a)

10b)

14a)

14b)

15)

18a)
18b)

21)

25)

30a)
30b)
30¢)

Chapter 4 Homework Answers

~12.0¢j m/s

-12.0j m/s®

F=(3.00i—6.00j)m; ¥=—-12.0j m/s
( )

T
Ui = NWan

tan"!(2h/d) below the horizontal

I

6.0°

R_ =2.13R|

gd’

dtanf, - —————
2v,” cos” 0,

=1 e Bl
© |5

II Ei Hi =
2l 5

21s

6.00 rev/s

1.52x10° m/s*|

[1.28 x10° m/s?),

32a)
32b)
32¢)

39a)

39b)

41a)

41b)

48a)

48b)

48c)

48d)

5.70 m/s

7.50 m/s’

[14.3° to the south from the vertical|

9.80m/s’ vertically downward

2dc

Af =
-7

61a)
61b)
61c)

67a)
67b)

+~

46.5 m/s

2[5
il %
moa\

3.2

8

9

.66 m/s| [-25.6 m/s|




